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8,850

8.850
4,425
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5,550
12,950
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2,160
1,080
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756
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180,000& 18 123

= W

2,160

2,160
1,080
324
756

2,160

307 21201 &

Z W

34,840
17,420

5,226
12,194

34,840

420,000& x1H « 128

1A SXAIE E =

O AMZHHESAY 224
2,480,000 * 12 122 +40,000&

= HnH

= N W

5,040
5,040

2,520
756
1,764

29,800

29,800
14,900
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19,128,635
12,433,613

17,276,308

1,852,327
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M HEIIED
FM: B 0EXNE € H4E=X 58
Sl YROES XA CERED
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
< 3,347,511
Al 3,347,511
307 glz2tol & 19,128,635 17,276,308 1,852,327
= 12,433,613
< 3,347,511
Al 3,347,511
05 RIZHRI &t 3 19,124,635 17,272,308 1,852,327
©BH~2M OiEI0IE OIE0ls 282 N&
394,000% *4,044H »12& +4,603, 000& 19,124,635
= 12,431,013
< 3,346,811
Al 3,346,811
11 AISISAAISEE X 4,000 4,000 0
OYUZFEFZ(XNAAANS L ZO00LS)
394,000& x5 22 +60,000& 4,000
= 2,600
< 700
Al 700
BI3~5MI0H FERIEEE 13,310,710 13,310,710 0
301 L2 L= 844,081 844,081 0
11IIEBEAS 844,081 844,081 0
OFcluty &AAL MR AL
300,000 x234H x12&+1,681,000& 844,081
307 glz2tol & 12,466,629 12,466,629 0
05 RIZIRI & 3 10,080, 180 10,080, 180 0
OFcItE ESE
220,000 +3,818H x12& +660,000& 10,080, 180
11 AISI S XA E = 2,386,449 2,386,449 0
Oscltd 234
52,0803 3,818 «12& +351,720& 2,386,449
It N 7,596,253 7,733,346 A 137,093
= 4,937,565
< 1,329,344
Al 1,329,344
301 g4z 7,596,253 7,733,346 A 137,093
= 4,937,565
< 1,329,344
Al 1,329,344
01 AkEJ f &6 3 7,596,253 7,733,346 A 137,093
© oaold ololEots 2d=s+4 NA
200,000 +3, 165%H »12& +253,000& 7,596,253
= 4,937,565
= 1,329,344
Al 1,329,344
S oAl XA 4,163,646 4,315,212 A 151,566
= 2,081,823
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 624,546
Al 1,457,277
307 2iz2to| A 4,163,646 4,315,212 A 151,566
= 2,081,823
= 624,546
Al 1,457,277
11T A EXAIEEX 4,163,646 4,315,212 A 151,566
O HEXNIONE0E oA
1,798,000& x192H »12& +21,054,000& 4,163,646
= 2,081,823
= 624,546
Al 1,457,277
oelold 22X (020lE HEFddl) 141,600 0 141,600
= 70,800
= 21,240
Al 49,560
307 2iz2to| & 141,600 0 141,600
= 70,800
= 21,240
Al 49,560
11T AISIEXAIEEX 141,600 0 141,600
OsUHEAM e 0ld XE2AH|
200,000 59 A~ x12& 141,600
= 70,800
= 21,240
Al 49,560
oelolt 2EXN(sHEAM HI0IE XH) 23,632 0 23,632
= 11,816
& 3,545
Al 8,271
307 2iz2to| A 23,632 0 23,632
= 11,816
& 3,545
Al 8,271
11T AISIEXAIEEX 23,632 0 23,632
OsHEAM ol old K&
240,000 8 A 122 4592, 000 23,632
= 11,816
& 3,545
Al 8,271
oelold 2IX(0{20/& WA wWHl) 80,000 240,506 A 160,506
= 40,000
= 12,000
Al 28,000
307 2iz2to| & 80,000 240,506 A 160,506
= 40,000
& 12,000
Al 28,000
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el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
11T A EXAIEEX 80,000 240,506 A 160,506
© elold Wy 1,000,000 804 2~ 80,000
= 40,000
o= 12,000
Al 28,000
BRUA2 MMM N (sEEKUAI SE22% 770,440 2,261,474 AN 1,491,034
=)
= 385,220
= 115,566
Al 269,654
301 Bt A= 770,440 1,832,834 N 1,062,394
= 385,220
== 115,566
Al 269,654
11 JIEtE A= 770,440 1,832,834 N 1,062,394
O =sHEBSWA EE222E
110,000& 583 x 12& +880, 000& 770,440
= 385,220
& 115,566
Al 269,654
EE2UX2 HRMAH XN (WAI2LEZHAH]) 1,314,490 0 1,314,490
= 657,245
= 197,173
Al 460,072
301 Bt A= 1,314,490 0 1,314,490
= 657,245
== 197,173
Al 460,072
11 JIEtE2 A= 1,314,490 0 1,314,490
ONANZREHIMAYI
170,000& 644 = 12& +730,000& 1,314,490
= 657,245
o=t 197,173
Al 460,072
BN MM XN (EXZWAF X (212H) 395,136 0 395, 136
= 197,568
== 59,270
Al 138,298
307 2Iz2t0| A 395,136 0 395, 136
= 197,568
= 59,270
Al 138,298
11T AISIEXAIEEX 395,136 0 395, 136
ONHBIOIY BEXWA X (CI2HAIA)
784,000 x42H «12& 395,136
= 197,568
&< 59,270
Al 138,298
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XMZIH: H .
(=2 I

Eel: 2RES KNIFAY
= _ — d =
SA - BB B (BA) - MM - BHES Ol &+ o4 e
ESAE ER0t =44 XA 113,400 113,400
301 g4 = 113,400 113,400
01 Ml2ZE 6= 113,400 113,400
ONE0ld ZR0t siLt=4 K&
1502 «180€ +4,200H 113,400
JIFENE 0l Wetedy X 39,600 39,600
301 LAz 39,600 39,600
1MIIEELES 39,600 39,600
O JIMENE0ld ¢itett]
GOl E 300,000 #45J0 £ #2381+ 0|1 & 210 39,600
000& *3001 & *23|
2] SSAHAY XN (220 S24H X) 548,967 548,967
< 164,690
Al 384,277
307 gl2tol & 548,967 548,967
< 164,690
Al 384,277
11T M SXAISE EX 548,967 548,967
© ZR0F S2AH X
3003 +7,319H «2502+42,000& 548,967
< 164,690
Al 384,277
2E SSAHAY X2 (HOHOF SEEE 2L ) 15,500 15,500
< 4,650
Al 10,850
301 g2 d= 15,500 15,500
< 4,650
Al 10,850
1MIIEBESS 15,500 15,500
O ZoL sEgEE 22X
50,0003 «25& x12E +500, 000& 15,500
< 4,650
Al 10,850
2F SSAHAY X2 (H0IE ESWEHE 225 1,630,030 1,630,030
o)
< 326,006
Al 1,304,024
301 L2 A S 1,630,030 1,630,030
= 326,006
Al 1,304,024
11IIEEAS 1,630,030 1,630,030
© OR0IY EEDAY 224Y
130,000& * 1,044 »12& +1,390, 000 & 1,630,030
< 326,006
Al 1,304,024
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& SR0ES XA (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
28 SEAHAMY NYJ(0E0E R PHXH) 60,597 60,597 0
< 18,179
Al 42,418
307 gl2tol & 60,597 60,597 0
< 18,179
Al 42,418
11T AIS S RAEE = 60,597 60,597 0
© OEold W PHIXSE (KA )
1,000, 000& *60H 2= +597, 000 & 60,597
< 18,179
Al 42,418
2] SSAMAY XN (IS U2AH2I01E Xt 389,037 389,037 0
BEE)
< 116,711
Al 272,326
307 glz2+ol & 389,037 389,037 0
< 116,711
Al 272,326
05 RIZt2IE = 389,037 389,037 0
OBIIIE QZNHE0E HHESS
40,000 «810H » 122 +237,000& 389,037
< 116,711
Al 272,326
] SHAMAY X2 (HIS Hel0ly BE'ER 1,108,595 1,065,745 42,850
o X&)
< 221,719
Al 886,876
307 gl2tol & 1,108,595 1,065,745 42,850
= 221,719
Al 886,876
11T AIS S XAEE = 1,108,595 1,065,745 42,850
© Bitls0E 0l ExE0 A&
680,000 135 x12& +6,995,000& 1,108,595
< 221,719
Al 886,876
B8 SAHAMY X2 (HHRA 21248]) 14,893 14,893 0
< 4,468
Al 10,425
307 21201 A 14,893 14,893 0
< 4,468
Al 10,425
11T ALSI S XAEE = 14,893 14,893 0
© CHRI AL Q1248 (XHXI)
50,0003 *59H «52/+143,000& 14,893
< 4,468
Al 10,425
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
BS SAAMMY NR(ZHOIHGAIL HF2H 7,800 7,800 0
xE)
< 2,340
Al 5,460
307 21201 A 7,800 7,800 0
< 2,340
Al 5,460
11T MISAASEEX 7,800 7,800 0
O ZOHOLEEAIE XH&E2EH X&
650,000& 14 2 +12& 7,800
= 2,340
Al 5,460
B SSABAY X (00T BEXZWA X 66,863 72,960 26,097
< 20,059
Al 46,804
307 212+0| & 66,863 72,960 A6,097
< 20,059
Al 46,804
11T MISXASER 66,863 72,960 26,097
© Ol2101& BXWA X8
784,000 «7H »12& +1,007,000& 66,863
< 20,059
Al 46,804
B SSAHAMY (B2 00y Xz o d 75,600 75,600 0
T200)
< 22,680
Al 52,920
307 gl2tol & 75,600 75,600 0
= 22,680
Al 52,920
11T AIS S XAEE = 75,600 75,600 0
0 B2 0T I AHE L0
630,000& x10¥ «12& 75,600
< 22,680
Al 52,920
LosXNsd 49,651,277 47,585,139 2,066, 138
= 32,052,293
J| 29,735
< 3,974,136
Al 13,595,113
Wt ol LeE 41,619,409 39,761,690 1,857,719
= 31,866,807
J| 29,735
< 2,174,024
Al 7,548,843
Coldiel ¥ AISIHEXE B0 2,859,861 2,847,710 12,151
= 1,429,930
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== 428,979
Al 1,000,952
101 @144 dl 1,432,581 1,364,720 67,861
= 716,290
= 214,887
Al 501,404
04 JIZHHZ22XEE S 1,432,581 1,364,720 67,861
OLQ A &S ALY MEFEXa Q2]
1,500,000 x8H x11& 132,000
= 66,000
< 19,800
Al 46,200
OLQlAIS S ALY & WX el24t]
200,000& =722 x9& +981, 000 1,300,581
= 650,290
< 195,087
Al 455,204
201 Let24E] 6,000 6,000 0
= 3,000
< 900
Al 2,100
01 At 22l 6,000 6,000 0
OLQAISI S ALY AHR 22l bl
600,000& 10 6,000
= 3,000
< 900
Al 2,100
202 oddl 9,000 9,000 0
= 4,500
< 1,350
Al 3,150
01 = LH &4 1l 9,000 9,000 0
OLQlAIS &S AFY OHl 300,000 *3¥ «10& 9,000
= 4,500
< 1,350
Al 3,150
206 = Hl 11,500 31,500 220,000
= 5,750
< 1,725
Al 4,025
01 =8l 11,500 31,500 220,000
O QA S ALY THZHI
1,277,000& x9& +7,000& 11,500
= 5,750
< 1,725
Al 4,025
307 21201 A 1,400,780 1,436,490 A 35,710
= 700,390
= 210,117
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10 AR SAAEHE2SHIEXR 210,000 210,000 0
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63,000
Al 147,000
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Pl 29,735
Al 29,735
307 2iz2to| A 59,470 58,474 996
J| 29,735
Al 29,735
10 MM SAANEEHESIGHEX 59,470 58,474 996
OS)H:-0 SIAHTLBMUIA SHXRA (A
Hl) 59,470,000 13| 59,470
J| 29,735
Al 29,735
EAHL0 XA 47,400 0 47,400
< 14,220
Al 33,180
307 2iz2to| & 20,400 0 20,400
= 6,120
Al 14,280
10 MM SAANEEHESIGHEX 20,400 0 20,400
OSHL-Q ZSHEH 2YXH
5,100,000 *4 4 2 20,400
& 6,120
Al 14,280
402 SI2FXHE0| & 27,000 0 27,000
== 8,100
Al 18,900
02 CIZEXIEAIS EX (0| XM THL) 27,000 0 27,000
OSHEQ BESMEX 2ARIII N
3,750,000 44 2 15,000
& 4,500
Al 10,500
OSHL-Q ZSMEN 2122
12,000,000 * 10 & 12,000
< 3,600
Al 8,400
ZOIJIN 2 EdR2 AIY 3,000 0 3,000
201 B9 3,000 0 3,000
01 AP 2t 2| H| 3,000 0 3,000
OwQI=X AM, ROIM 2 S
3,000,000& 3,000
CoEXAIES XA 4,626,336 4,704,392 AN 78,056
= 30,173
& 1,386,763
Al 3,209,400
CoSNY 29 NA(BX) 34,920 700,000 665,080
o= 6,934
Al 27,986
307 212t0| & 34,920 700,000 A 665,080

_40_




A H&IIEL
M Lol=x=&

R L2 XAIES X223 (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 6,934
Al 27,986
10 MM SAANEEHESIHEX 34,920 700,000 A\ 665,080
OYEA EoEXNZ SAX HRMAH
18,000,000 = 1JH £ 18,000
& 3,575
Al 14,425
OYERELQ=X2 SAA MRS
16,920,000 =14 £ 16,920
= 3,359
Al 13,561
o2 29 XA (XA 1,200,000 0 1,200,000
307 2iz2tol & 1,200,000 0 1,200,000
10 MM SAANEEHESIGHEX 1,200,000 0 1,200,000
OEZXA Lo=Exa2 29
650,000,000 = 1JH A&~ 650,000
odELo=Exa &9 550,000,000 = 1JH £ 550,000
LOIEXAYE XNRA(EX) 3,032,450 450, 166 2,582,284
= 1,310,214
Al 1,722,236
307 QI2t0| ™ 376,996 449,186 AT2,190
& 161,498
Al 215,498
10 A SXNANEEHESIGHEX 376,996 449,186 AT2,190
OLYMBAL SSAN SYXS (FoIOIS,
ZAFE) 20,166,000 122 +4,000& 241,996
& 120,998
Al 120,998
OMIMCOXRMEIA 2H (2D
135,000,000 =10 A 135,000
=} 40,500
Al 94,500
308 XNXISHHMSOI& 2,655,454 0 2,655,454
& 1,148,716
Al 1,506,738
11 J|EIRY =2 2,655,454 0 2,655,454
OLQMEAIL AIRRAEE X (AE2H)
440,100,000 x4 2 | 1,760,400
= 880,200
Al 880,200
OMIE&EI)IQABHE XA (MII2AH)
223,763,000 x42J]+2,000& 895,054
o=} 268,516
Al 626,538
COoIE2XAIE X (XHAND 980 0 980
301 et A= 980 0 980
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
NJIEEd=s 980 0 980
COIMBAIE KIS2AA 21200 B4
70,0003 x2H «73] 980
COIME(THONAIE SAL HRMA X 122,640 117,240 5,400
< 24,528
Al 98,112
307 glz2tol & 122,640 117,240 5,400
< 24,528
Al 98,112
10 AL SXAIEEE2EH EX 122,640 0 122,640
OLQIMEAAE SAX MM (HOH ZHALY)
9,770,000& x12& 117,240
< 23,448
Al 93,792
OMIL=A=XIAE SAR HRMA (S 2O
450,000 123 5,400
< 1,080
Al 4,320
CLOQAANLEHETIsBELAME(XE) 60,346 0 60,346
= 30,173
< 15,087
Al 15,086
402 QI2H X201 A 60,346 0 60,346
= 30,173
< 15,087
Al 15,086
02 QI E2AIS EZ (OIS ) 60,346 0 60,346
OYTAY QA I s
60,346,000 =10 2 60,346
= 30,173
< 15,087
Al 15,086
sololsAE JIs2EZd 70,000 0 70,000
401 AIEHI L 20HEI 70,000 0 70,000
01 A& HI 70,000 0 70,000
OLRLSNY ZEIA &
70,000,000& =14 2 70,000
SAZ FLUXX =SXNAE M= 45,000 700,000 A 655,000
401 AIEHI L 201 45,000 700,000 A 655,000
02 Zeltl 40,000 0 40,000
OsAE FUXNX SXNAE o= Zeldl
40,000,000 104 & 40,000
03 Al S THHI 5,000 0 5,000
OBAS FUNK SXNAL &E R}l
5,000,000% 104 & 5,000

_42_




AN &8Iz
By Lo=xEd
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SIoIEAE JIsEd 60,000 15,000 45,000
== 30,000
Al 30,000
402 BI2H X =20l M 60,000 0 60,000
o= 30,000
Al 30,000
02 QIZEXIEAIS E X (0| XM THL) 60,000 0 60,000
ogRLo=NH IS
60,000,000 * 104 & 60,000
& 30,000
Al 30,000
COGH N¥ ¥ B2Y 2435 XN 3,022,616 2,198,891 823,725
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